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QUESTION 1

Which statement regarding setting up a local keystore for DB2 native encryption is TRUE?

A. A local keystore is not needed if a Hardware Security Module (HSM) is used to managemaster keys.

B. If a local keystore is used to store data encryption keys, a stash file must be used to store master keys temporarily.
C. A master key must be generated and placed in an existing local keystore before a new encrypted

database will be created.

D. After a local keystore is created, you will be prompted for a password whenever the database manager accesses the
keystore.

Correct Answer: C

QUESTION 2

Which statement about Data Server Manager (DSM) is TRUE?

A. DSM can be used for reviewing audit trails

B. DSM cannot be used for database administration

C. DSM can be used for configuration management of DB2 Data Server drivers

D. DSM can be used to efficiently monitor, analyze, identify, and solve a performance issue

Correct Answer: D

QUESTION 3

When operating in NPS compatibility mode, which of the following are limitations for using a routine written in
NZPLSQL? (Choose two.)

A. The routine cannot contain comments.

B. The routine must return either an integer or a null.

C. The routine must be cross-compatible with Oracle PL/SQL syntax rules.

D. The routine cannot contain argument lists or variable arguments (varargs).

E. The routine must be generated with IBM Database Conversion Workbench (DCW).

Correct Answer: BD

QUESTION 4
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A table named MYTABLE contains an XML column and an XML storage object dictionary already exists. What is the
effect of enabling compression and then running the command REORG TABLE mytable KEEPDICTIONARY?

A. All data, both new and existing, will becompressed.
B. Only new or updated data for XML columns will be compressed.
C. New and existing XML columns will be compressed but other columns remain unchanged.

D. Existing data will remain uncompressed because the RESETDICTIONARY option of the REORG command was not
used.

Correct Answer: D

QUESTION 5

Which statement about label-based access control (LBAC) is TRUE?

A. LBAC protection can be applied to a nickname

B. LBAC cannot be used to restrict access to a staging table

C. LBAC cannot be used to restrict access to data of columns and rows in the same table

D. LBAC protection for columns requires a table to contain a column that has a DB2SECURITYLABEL data type

Correct Answer: D
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